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MP1 correct values

selected from the table

MP2 correct answer to

any number of

significant figures

MP3 correct rounding

to three significant

383.3(%) ;;;1

figures ecf from

incorrect previous

step

2letter A and a line drawn that

ends on a palisade mesophyll

cell ;

letter B and a line drawn that

ends on the xylem ;

2

1magnesium ;3

3any three from:

number of leaves increases for

both ;

4

group 1 grew more leaves ;

number of leaves increases

more rapidly in group 1 ;

data quote with day and number

of leaves ;

1(upper) epidermis ;5
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